Tag Mode Measurement (t(hh)) /7(D°) Ref.
Prompt K- KT AAcp 2.1524 £ 0.0005 + 0.0162 [16]
Prompt T 7t AAcp 2.0371 £ 0.0005 + 0.0151 [16]
Prompt K- K* Acp(K~KT) 2.2390 £ 0.0007 + 0.0187 -
Prompt 7= 7t | Acp(K~K*+) — AAcp | 2.1237 4 0.0008 % 0.0375 -
Semileptonic | K~ KT AAcp 1.082 £ 0.001 £ 0.004 [18]
Semileptonic | 7~ 7wt AAcp 1.068 4 0.001 £ 0.004 [18]
Semileptonic | K~ K+ Acp(K~K+) 1.051 = 0.001 £ 0.004 [18]
Semileptonic | 7~ 7t Acp(K~KT) — Adcp 1.0370 £ 0.0011 + 0.0089 -
Pr. + sl O Acp(K~KT) — Adcp 1.7121 4+ 0.0007 £ 0.0267 -
Pr. + sl K- K+ Acp(K~KT) 1.6111 4 0.0007 + 0.0109 —




